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The Gray Prediction M odel for the Spread
Period of Schistosomiasis
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Abstract It isof great mportance to predict the reading peak of schistosom iasis

Thispaper establishes a difference gray prediction model, w hich forecasts the peak per-
oid of schistosomiasis grow ing and greading A practical exanple is caculated and ana-
lyzed, which indicates that the prediction result is correct and the precision grade of the
model is excellent
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(3, 4 S,
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{P(a1), P(az), ,P(an)} x (1) X
() . X X X
o, x(t) xo(t), xo(t) {x(®}, t {P(a)}, xa(t)
) (P xo(D), P2 xo(2)), P, xom)}= {1, 2, , m}
m< n , o {x(®} {xq0}
L A q{x(t)} - {xo(t}, tot
(tLxe(®), x@2@W=P(t xo(®),
xOW = x01), x2 (2, x@@m)i= {12 ,m
x 2 (k) 1- AGD xP(K), (9)
i i {é” K+ 1) = xO(1) + ;/6- Azk)eék- z;/t; (11)
k=0,1, ,m-1ab (7) (12) x & (k) ,
x 9 (k) (10)
4
, : , ( )
, , 1950 1985
1
1 1950 1985 (%)

1950 |4 9722 | 1956 |7 6253 1962 |8 7903 | 1968 | 7. 0316 | 1974 | 3 3011 | 1980 | 3 1327

1951 | 79276 | 1957 |8 2072 1963 |3 7825| 1969 |4 1721 | 1975 | 6 5467 | 1981 | 4 0121

1952 | 4 8613 | 1958 |3 6794 1964 | 7 3927 | 1970 |3 6081 1976 | 4 2141 | 1982 | 5 7609

1953 | 8 4127 | 1959 |9 1375 1965 |4 3931 | 1971 | 3 7204 | 1977 |3 1072| 1983 | 3 1901

1954 |4 7697 | 1960 |4 9891 1966 |3 6972 | 1972 | 6 3942| 1978 |3 0911 | 1984 |2 9712

1955 |4 9781 | 1961 |4 7932 1967 |4 0713 | 1973 | 3 1799 | 1979 |6 0982 | 1985 |2 7211

1, x ()= {x (1950), x (1951), , x (1985)} ,
i 5% , 0= Q05 1
xo(t)= {7 9276, 8 4127,7 6253, 8 2072, 9 1375, 8 7903, 7 3927, 7 0316, 6 3942, 6 5467,
6 0982, 5 7609}, xQ (k)= {2, 4,78, 10, 13, 15, 19, 23, 26, 30, 33}, 1-
AGO x® (k) = {2, 6,13, 21, 31, 44, 59, 78, 101, 127, 157, 190} (7

Ci= =[155+ 184]= 16 95
20
_ 1 _
Cz= (13867 + 16615] = 1524 1

1 _ _ 4
10 64087 = 6408 7, Yi= 10

s | 1 837 . 16 95
" 1637 6408 7 " | 1524

X o= x 637= 637

(8)
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Jo|d | 27259 - 0027y | 1695 _ | 4900
"l |- a0271 aqo004 ) (1524 1~ | a 150

(11)
XD (k+ 1) = (34 6075- 20 ™* . 32 6075
(1 = x? (- x2 K, 5= [x©W- x© 1)/
I 2
2 , ok)<ao02
. k=567 |, k=5 12 7982,
1962 + 12 7982 = 1974.7982= 1975
: 1975 , 1 , 1975
6 5467%, 0. 05, . k=6 1979 , 1
k=7 1987 , , 1987
5 2764%
2
k X (k) X (k+ 1) X (k) e(k) 5() %
0 1951 2 2 3 2889 - 1 2889 64 4450
1 1953 4 5 2889 3 4421 Q 5579 13 9475
2 1956 7 8 7310 6 4022 Q 5978 8 5400
3 1957 8 15 1332 8 3271 - Q3271 4 0889
4 1959 10 23 4603 11 7008 - 1 7018 17 0180
5 1962 13 35 1611 12 7982 Q 2018 1 5523
6 1964 15 47 9593 15 2907 - Q 2907 1 9380
7 1968 19 63 2500 18 7211 Q 2789 1 4679
8 1972 23 81 9711 21 8284 11716 5 0939
9 1975 26 103 7995 24 0902 1 9098 7 3454
10 1979 30 127 8897 27. 3972 2 6028 8 6760
11 1982 33 155 2869 31 8725 1 1275 3 4167
5
g, )
1 [411
1 , 1986
2 . : , 1988
3 dx/dt+ ax = b . ,1990, 3(3): 60 70
4 ,1994, 14(4): 52 60



